
If you have any questions, feel free to email us

at zzwservice@gmail.com

PATIO  SWING

ASSEMBLY INSTRUCTION

AutoCAD SHX Text
。



(1) 1-year warranty extension

(2)24/7 quicker service and product support

(3) Chance to test new products for free

(4) Get specific discount on shop items

Register and Get the Full Benefit

Register Way: Send " your name + order ID " to

zzwservice@gmail.com

THANK YOU

It's our way of saying thank you.

Register your product to enjoy a number of benefits:



 Parts  List

1

1 PC

3

1 PC

654

2

1 PC

1 PC

Hardwares List

A

4 PCS

B C D

G
HE F

KI J

6 PCS

1 PC

2 PCS 4 PCS

4 PCS

2 PCS

1 PC

4 PCS

1 PC

6 PCS

Screw M8x70 (mm) Screw M6x60 (mm) Screw M8x70 (mm) Screw M8x50 (mm)

Allen key 4mm Allen key 5mm

1

Assembly Instruction

1 PC 1 PC



2

1

3

5

4

6

Assembly Instruction - Porch swing

2



STEP 1

Bx6

B

G

3

5

4

6

Please note the upside and

downside, the larger hole is

the upside

Assembly Instruction - Porch swing

3

B

B

B

Ensure that the hole in the nut faces

vertically toward screw B so that the

B can enter the nut correctly.

B

nut 



STEP 2

Ex2

Dx2

D

E

H

2

1

Assembly Instruction - Porch swing

4

E

D

D
E



STEP 3

Dx2

Ax2

D

A

2

1

3

4

5

6

Assembly Instruction - Porch swing

5

A
D

D

A



Ex2

Cx2

Ax2

A

E

C

E

H

2

1

3

4

STEP 4

Assembly Instruction - Porch swing

6

A

C

E

C

E

A

C

E



STEP 5

Open

Lock

The nut safety buckles

must be locked;

Regularly inspect the

chain and the suspension

as a whole for safety

hazards.

Kx4

Jx2

Ix6

J

7

Assembly Instruction - Porch swing

I
I

2

I I

I I

1

K

K



8

Assembly Instruction - Porch swing

Adjust the length of the chain

suspension as needed to

adjust the tilt angle of the

swing chair.


	图纸和视图
	模型


